EARAROBEEIERT — 2 N— IBISH —F

20185 7H3H (X) 7TH£R4H

mé‘%‘éfﬁﬁ%’(“ﬁ RTIC 1B ARl A 45R—f (w8 | mEmml - |5 5) o 8
[A&4£] 1% :700,000 3 ~ 23#&:161,000  ~ 3% :84,000  ~ 43#&:63,000” 5 3&:42,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R . MAHIES] :30. -5-4- . — EHHE (£R)
, AP TE S H 5 o= 1(3_0)4 4-5-4-3 | 38.4 1 ;1:324) e
LN=v934 B:T77>Th HET77— L
3 =4 K 4 8 | BERE 1:30.5 2-2-1-1 | 39.1| — 2 512 | EEER (£IR)
1 c IS EREFAS 56.0 (3/4) © | MTvavEE %)
:a—I> 70> B:Y—&2buday ry Y aIEEMASH T avi
=i MEBE :30. —6-6- . — HIgsAE (£R)
311 |7YsrFryw 09 5‘6).:6 1(310>7 7-6-6-4 | 38.5 4 (4_815) menE
LRV Ry THY BiHkU—H— HEHS
= == 4 7 | REA 1:30.8 3-3-2-2 [39.4| — 3 476 | DIEERDIZE (£IR)
4155 TIFFINT 1 56.0 (1/2) (0) RSB
:ANXZXTINYT BT xHeEY b KE B
B - ° 4 9 | RHEBE 1:31.3 5-7-7-6 | 38.4| — 7 503 | SERE (2R
517|7 | 7> h=FEY 4:55.0 2 1/2) © |NEES
g/ F¥LLy b BiYF—Iq4a-> (B) tEI-FKL—-a>BgEIT7
N N FERKHA :31. == . - ERRD (2R
6 2 YL HE—2T) o4 i 1(311)5 1-1-3-5 | 39.9 5 (4+619) E(’ﬁ) RN
L:h74=2T BXx-—THFT plltie
preer . 45 — JIFREARL (23R
7 3| AXELYILZ i 5 s 1.(332).1 6-4-5-7 | 40.0 6 ;1_3;1) Wiy
LO—Y XA x4 B4 H#—XTOr K EvilLy RT7—L
@ 1 — S —EBIEf
13=7r= 2,6,5,4,7,3,1
A== 2,6,5,3,4,1,7
Jol=5r= 6,5,2,4,3,1,7
43—F— 6,5,4,1,2,7,3
[ N3
BB 4 1604 714K 4-6 140H B = 4-6 400M 3EHE 1-4-6 700H
8 B 4 1004 1-4 190H B H 4-6 480M K31 4-6-1 1,880M
6 160 1-6 340M

ABICOVWTRDTEEERROODE. TR LIV,




